Rectangular array N=16, phi=15, elev=15, s=0.5, dxy=0, R=100

100 "

-100..

-100

Azimuth /deg -60

Elevation /deg

RAdio 1 ] W
Detection -ttt iy,

o

N
o

‘IOIogw|s|2 /dB

B
(=]

time

Chirp Tx and Rx signals s(t): =1.5, B=100, 2=[0.5,0.7,0.2], At=[3,5,7], Noise=0.1
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Radar Equation: P =[10,50,100]kW, 5=20m?, f =3GHz, A=4m?
n=0.5, E=1, n=8, t=256us, T N.=500K, L=10dB.
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Rectangular array N=16, phi=15, elev=15, s=0.5, dxy=0, R=100
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c/A+1iB

Gaussian Tx and Rx signals s(t): 6=0.1, a=[0.5,0.7,0.2], At=[3,5,7], Noise=1
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Matched filter output: Peak SNR=[24.5,28.1,16.1] dB
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Chirp Tx and Rx signals s(t): t=1.5, B=100, a=[0.5,0.7,0.2], At=[3,5,7], Noise=0.1 ~ L_ -20
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Chlrp Tx and Rx S|gnals s(t) 7=1.5, B=100, a=[0.5,0.7,0.2], At=[3,5,7], Noise=1
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